Algebra 2 CP Name K E?I ID: 1

CHAPTER 2 REVIEW Date Period

INSTRUCTIONS: Clearly show work Circle final answers.
TBD points unless otherwise specified.

Plot the points and label points T, U, V.
State the quadrant or axis that each point lies in.
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Find the slope of the line through each pair of points. (4pts each) P AX
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Write the slope-intercept form of the equation of each line.
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Sketch the graph of each line using slope and intercept. Clearly mark 3 points. 3
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Sketch the graph of each line using intercepts. Label the x-intercept (X) and y-intercept (Y)
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Werite the point-slope form of the equation to describe the following lines.
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Evaluate each function.

17) f(x) = x? + 10; Find

b)fﬁ o*+lo = (10

o 7(10) = U“) 110 = loo+io "(:{-‘;J

) c"{‘H’\L
* ":or-C( "\> sobsh vt X=-4 and evely

e_&e ressioNd .



Construct a scatter plot.
A) State if there appears to be a positive correlation, negative correlation, or no correlation.
B) Identify if the relationship is linear, or non-linear.
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a) (2pts) Construct a scatter plot.

b) (2pts) State if there is a positive, negative, or no correlation.

¢) (4pts) Use Tlcalc to find the equation of the line that best fits the data (round 2 decimals)

d) (6pts) Plot the Best Fit Line on the scatterplot: label the y-intercept with a Y; label 2
additional points with their letters and ordered pairs - point A:(10, _ ) and point B:(70, )

200 x| v x| v 2y x|y x|y x|y
201,100 60[3,000 3¢ a2 “7s[8
30[1,500 603,100 830 3223 100]3

40(2,200 804,100

RO

REH

onn,

25018

20

500

1000

SO0

10 20 30 40 50 60 70 80 90 100

1020 30 40 S50 60 70 80 Negative cotrelation
\h Positive correlation
»y=49.93% +86.5% Y= =.2%%+ 3. 3%
v (10 ;]‘3.3‘3\’
A (10, 5735 5%) e £
4- & ( 710, 109 %-)

B (70 3531.7)



Sketch the graph of each linear inequality.
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BONUS: Solve each system by graphing.

a) Plot the 2 lines and find ordered pair where the 2 lines intersect
b) Tnen check he ordered pair checks in BOTH equations
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